Warm Up
1) Write an equation with triple the
amplitude and half the period:

y =4cos(6x) + 12 2’ 12 cos (IZx)
x3 ?er"""' 26 -’--5"" % 12,

2) What s the phase shift of "')*g %.

y=3sin(8x +12)-4 o <L %;ﬂ
b z_

3) Write an equation for the following graph:

2 y- 3 5ia39412
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2T B4 = -~




Part I. Carefully graph each of the following. Then, evaluate the graph at any
specified domain value.

x+5 x<—_2_

L f(x):{—bc—l x> -2

(2,2) 2,3

2453 -2(-2-1=3

(3 2 ¢l D

-345:2  -Z(-D-1= |
F(3)=-7

f(-4)=1 \QI

f(-2)= 3



(2x+1 x=1
2. f(x)=<%x—3 x<l F

(=3 A()-3:25

2> 4 ;
]’-’5 L/ - :.:-3

Z C?'()zjs) z() Z)Q, -3)
f(-2)=-4
f(6)=13

f1)=3



£ :; 13;—2 x>X3
k—§+4 x<X3

f(-4)=16/3

£(2) =6 9
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6. f(x)'{zx-s x> 3




Unit 5: Functions

Piecewise
Functions

Function Values Graphing



In order for a piecewise
function to be continuous the
shared x-value endpoints must
match up.



What value of d would make the function
continuous?
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4. f(x)=42x-1 O

W
Continuous: Yes

Domain: ” FRange: }/2—[

(.0/ : ') (" ) 0) (0,9

0% 1=-1 (2,3) 2011
(39 (59

7(5)-171

L{oy= -
£(5): 9



. x <0

5. f(x)z{x

-x+4 x>0

Continuous: Yes

- ?R w1
- 16
f0)= ()
F3)= =N




§ Py - 5 x <-3
' (x)= 2x-3 x>-3

%
Continuous: Yes

Domain:/rF\ Range: y ¢35 or Y=
fF4)= 5 (oo 3>U [5]

F0)= =3
£(3)= -q
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